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@) SRl | (8) e
© A . ©) %
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5. Afarcry (choose thecorrect meaning of the idioms/phrases:)

(A) a disadvantageous thing (B). ‘an unfounded claim
g ‘
(C) along way off D) a thing which is neglected by all
6. If aspeech is full of prompous words, it is (Fill in the blanks)
Q/ (A) verbose ‘ (B) bombastic
(C). garndiose (D) grandiloguent

7. PLR-UIBH Qo8ldl 22 ol el H2 5Q sl 52 & 2
(»A) Aot SoS[AH (B) ollQll e W
@) Rrd dos (D) 3% ARSR
8. 'dler | of Y& sAL ML U & ?
_ C(/ (A) 1915 | (B) 1815

(C) 1817 (D) 1917
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ARetrtiell sell 20€o] @t atyusi@ol & ?

PR () &
© 4@ (D) Ml
"(Q. 10-19) : In the following passage there are blanks each of which has been numbered. These

umbers are also printed below the passages and against each four words are suggested, one of
. , one o

which fits the blanks appropriately find out the appropriate words in each case.
The latest stage of the continuing (10) between India and the United States on the

nuclear issue is now punctuated with pleasing diplomatic observations. Our latest round of talks

with the American Deputy Secretary of State is "positive and encouraging". The "US Deputy
one or us are pleased to have any clouds over the

Secretary of State remarked that n
towards the sub-

(11) . We in India know that these clouds have (12)
continent from the West. The US can easily disperse the clouds if it wants
trying to come to terms with the fact that

But the economic

sanctions are still in place. The US is only (13)_
of the Permanent Members of the Security

the nuclear weapons are not the (14)
power, then what is it that they are

Council. If they do not recognise India as a nuclear
by their derecognising the nuclear tests both

to? India will not (16)
what has happened. The

(15)
sides can happily close (17)
fact that India is a sovereign nation entitl

ered by the tests. The US has come round to

eyes and agree to (18)
ed to take decision beneficial for its own security,
that India has some say in this

has not

been alt (19)

matter."

10.
(B) negotiations

(A) - adversaries:
(C) strifes AD) strategies

1i1.
(B) _ struggle

A relationship

(C) matter

(D) talks
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12.

(A) formed (B) eclipsed

(C) ruined 4By~ floated
13,

(A) spontaneously (B) generously
Qc/(c) grudgingly (D) gracefully
14. |

,('Kr threats (B) creations

(C) properties | ('D) monopoly
15.

g/ (A) prepared | (B) objecting

(C) pointing (D) clinging
16. |

(A) gain (B) differ

der floqrish » (D) suffer
17.

(A) their mr

. (C) naked ; (D) inward

- 18.
' (A) imitate , .(B) undo
@ (C) cherish (D) reiterate
19.
> (A) exr;ecting (B) suspecting
@(C) accepting (D) - advocating
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20. A0 ydl 83 - 5,17, 67, 260,

(A) 1029 (B) 1028
(©) 1030 (D) 1024
21, vﬂ_ietmiaﬂ_sa Asell Wil etell 2 , o
g o8) Wl
®7 0 Buad g O Rusdl @S :
22 oReuniel sa Beni 17 wuspia ol 8t ? ' N
(A) Mesial pa (8) @Rl .
9 HoteR (0) &Rell N
23. The rapid fall in birthrate achieved by China over the 1980s. e

is placing a retiring strain on many old -7
workers who must retire now from the workforce. Find the most effect and correct choice for the »
underline part.

(A)

¢

(€

places a strain on the old workers as they retire from the workforce
is placing a strain on the workforcg Now as many old workers retire
is placing many old workers on a strain as they muéf retire from the workforce
(D)

is placing many old workers who must retire as a strain on the workforce

24, dan vdadala Aogetied aills @stue? dedl Ruldld s wde 2
(A) 3.1.% (B) 2.5%
(€ 2.10% 4B) 2.60%

25. l@s otsll Aol HRA MR actol o Aeuse s D 2
(A) Edusat » (B) Matsat |

AC) Cartosat : (D) Hamsat

26. SlEAMl ARAMl Yecll G welctdt (High Court) A B 2

(A) 28 \ AB) 25
(€) 26 ‘ (D) 24
’ [10-A-5]
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27. ol Retuidll s s (aaucuus R

i (8)
uel
e (D) w2
28. 231,235237,238
422 133, 533 a7 &&123391 zcéiz_ou Ats AHY Asuoll dvaiel]l uect UEA silc?t a2 H2cll
i 3?’ Haedl dval 5g 7
65% ‘
3 - (A) 236 (B) 932
g3t
s G o)
a1 <J\'1/29 cﬂaauutdl 52l [Elscu YOl otell 2
G
¢ g'\"l?’ ®) e (8) I

%o. ACE AHE M2 As AGE WA - AU 2Bclle] UR”.
(A) 2[851 4B) etsﬂ
(€} Ass ‘ | (D) €58
31. Qveud 5(Q, RAsR HBsH WA 5L EQML &cll ?
(A) ofla y (B) 2@
C(/(c) UARSL (o) sacll

32, sl UELAl AlHloA dlcllalRRHL B3 511{1& 82
| (A) 65l ' (B) RM
JC) oRH ' (P) 5681

33, ou3l udcdMLOL (Garo Hills) sl AC B 2

(A) BWRAH R4 &)/ AUAS

© Rued | () Rséln
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| 34. Guenau(a bl ottaugell @uels s ci 4g ?

A) 2006 ) 2017

(C) 2018 (D) 2019

3. A uiisett euarl YA Bl 3s °Tl 2l Rl L 315041 1 B wis ay Ha d.

uisall ot g 62 ? ' e s
. : ( ® 5 <
(A) 20 () 35 \/s% 5 Km:
J&) 25 (D) 30 e
36, W uEQHi dectt WM B d 58\,
3%3“1 20|
ZK'L; L‘ 2
o\ '
\ ~
‘)‘/ 1 E
oo B e o g uB) 14
¢ (Ar 3 X ' :.7-
<" e )
. M X I . . (D) 13 v ‘ |
> } ’ i ‘ : %
i ul. s .
37, "uRL8l sAdcMl A gL aloE e HI2 U5 AGE U N
A A (8) Hisdll
" (D) BdR
() s |
ill in the blanks) o
38 Iamworkinghardonthisbook,//?(ﬁ in | e,
o - (B) won't!
(A) don't! - .
\ (D) can'tl

dﬁ/aren'l

39. [ReR uddell Qs el yedl 8 ?

() 1253 HleR

R
UA) 1153 e
(o) 953 Hle?
(C) 1053 le?
narg el sl yecl As5 B ?
40. & A
A) 51
1 ( (D) 42
() 48
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41, i Ml 58 AT olasl acd ddlder dlleenl atce Wdd 2
(A) 1963I ) 1983
' (C) 1962 (D) 1982

42, 6l watadl ure] yets et s AuE cRA 812
(A) BB atel (8) (el

o) M@y et el (D) &dtot (o3l

43, olodal sl cdui 2ee (e ual Mol £ HeRll &cll ?

(A) 1930 (8) 1932
(C) 1926 JHY 1934 A ‘
l( 2 . '\\\n‘—
b Wy Sy
44, 16, 24,36 ol CAYtlH ARG VAU, ..o 0. ?;(m "g)‘ “‘,,
$L ,A i e
JB) 144 b
36 (D) 16
? Y+ WS = oo
- ) RllmL (B) A
W (C) Wls (D) WsA
b 46. Which of the following is incorrect ?
%
ﬁ (A)  Four and four (B) always made eight

» .
\"‘J\ (C) cannot (B) be questioned by anyone

47.  Just when they reach the station, the train had departed. (Replace the phrase underlined to make

the sentence grammatically meaningful and carrect.)

(A). Just before they reach (B) After they just reach

(}?} Just when they had reached (D) Just before they reached

[10-A-8]
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A) uge ? ) s i
€ UL (0) aildrazy M2l
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W S ®) dRu
@ Sl o ds
so. wetct el il Got selled 2ovey Qe R gt 2

(A) MO AL (8) Mejeus Aadl

¢ | T
t; (). SCUYAY-VRIEY (D) cusjeus Nl ~
si 3 As Aol 500 5e Raeluluisl 28% seal B A FURAD WA ... 8.
s W ® 0  spaX.B2 - S
3 e )
’ [ w '
+ S (D) 450 ‘\’f’ =
s2. uRucnd 3 Al 30 ARR & sierll a2 Jec viael yIl & 2 '%T e
. il
\MSZ.S -(8) 75 &?Q
| | 5°)
(C) 45 ‘ ‘ (D) 105 .
53, oSl cRA AURYEA HABAT] oo HR2 D, ol Aotriell 520 @seu wA 32 < 10
(<‘ (A) 215151. ky B) Asisl SDOX 'z{
| ' ) wsiB oo E -
(©) RlsL ‘ s ;
54, yadulet AR Als ndd ddk 8 K% ool 8 B ? G 0 -.
. a @3 R L)
(a) 3R Al rda ABAPAR (B 3R s n 6(;
( (©) B Als Hdet Yl s AN
(© R Ay uda A3 =& o

55. yacloll GHRSEL 3ecll 82

20 Million KM (8) 1020 Million KM
QJ[A) 1120 Milli

Million KM (D) 1050 Million KM
(C) 950 Million
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56, guell olottctz - Alose] Qe Ay Geulgol sauf A B 2

JA) aAtRAsS , ©(8) el
(€ YA (D) wUARSsL
57. ¥UALY cllclloll Yol s 22 sl ?
IS
g8 ¥ 1:’( \1' (A) UBM doua (8) @t
t 30 S\°S O U (D) HelRU¥
'LS \\

58. 8 "COMPYTER" o\ "24-12-14- 11-6:7-22-9" WA isami A A "NATURE" 2 ’ﬂa"u‘{l?ﬂ
521l [asca& A wisoll asta 2

, 3 &1*%?\5%}“\) 22@;6-13-7-5_9 _ (8) 13-26-6:7-9-22
_ () 132696722 BT 132676922
_ . 59, auacmau sq s sﬁﬁ yalL eatia 82 "
' (A) ol Hl% A0 D, (8) Al £all 111%1 .:,;.
“ o ol ‘sl s ol (0) WA Rt 3.
s ;'60. A Aetiniiell 52 QANe wRsE B ? - | 2 - '}(
C&/ (A 3 . | (8) " slic] B ' QF
(g diy , (0) vuell >
Zh (‘\59 (%;1. ol Aettniell 58 ﬁsg[l wdl €9 ? . Q‘wg\ -
Fa y}‘D L s & e ads o
o (O g e o) V |
;3(@ ' 62, Heis a silver tongued doctor and patients listen to him. ( choose the correct meaning of the
("D _?\ ) idioms/phrases:) e \ ,/:((/ 4(\%
N 4 )9& (A) speakingin a helpful but authoritative language _
“’%& (B). speaking in a way that make people angry

(C) speakinginaway that annoy or bore the people
}m speaking in a way that charms persuade people
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63 NSG (alotet RsyRl oud ol 2euuoy 5cllef sl criu vtﬂ °4 ?

(A) 1982 - ® 1983

(C) 1984 . D) 1985

64. 5 %el sl Ray qdly @xcﬁq 82
(W) Q@ Wolset Bt (8) (A ug 2iRaw Ray

’()21' @Qu walaze Ran (0) @ uell e Ray

B5. Al ANA ER1Uet el B3 (Quit India) AL 1B B Sl UIR e wied] 2

A o 8) kel

() slascl (D) AAE (Hal)

66. . dlel oilRL 59 WA sHi el scll ?

) A d wad

(B) Gsat
(© a4 ) ollofloy
67. 35 28,63 ol Ojgﬂu AIRYL iacmq L ®. ¥ g
| . . Y
(A) 1260 .
R ) 7 Qe
© 28 ' |

D) 14
63. S8 WU 10% -

UEL R A A Al deet ol ol e 2

AR) 10 ' 1= 0E>

( B) 6 3 ﬁ

© 12 (D) 8 o% \
. : ((&/

| "AYA (AR wiet A Gt " sl 5 Yo 9 7
/W 5B - usils tlq

() 5dR - usis g or
(@ i@ - usls g W '\%

(0) 5@ - wsils g

70. They have been reading........ 7 o'clock. (Fill in the blankg)

_ 20
(A). for. . - (B). in . JoEk s
.82 0 |&° o6 ¥ 10XTO
. : = \00 —_ N
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A ri i
ecently carrieq out Mega-analysis of two decades of published research does not suggest that

tIIEIe should be an asSOClathll betwee“ c
) e“eCtlve and Correct CIlOlCe for the

underlined part :

(A) sy i
Egests that there is no association between coffee drinking and epranaiyallments

(B)

suggests iation ilm,
Bests for no association between coffee drinking and coronary ailments

(€) any association &
Y association between coffee drinking and coronary ailments is not suggests

(D) sho ; i
Ws that coffee drinking should not be suggested to have an association with coronary

ailments

72, A o€l sy ] ® ?
(A) AAH 48 At
(© RAdeun (D) Yelol

73 M stetlls yaesiz Q3ct Syt st

(A) &l otautt:éua - (B) Guueis: Al

Ay -

Jo . 952 g3u 0) YR{eteat et

74, o Qetiiell 59 oML Adaus B 2

’

| (A) mé" : S W
| © 215_1 : (D)
75. ai(&::—aui yauH A Y382 S8 Aade sdl »
g, yellyd (®) %¥dlet Buaol
o © ¥sRs Raua | (D) 3ru$§ Bucllog

76. ,\."}s;alcj.aetgu\d!"e‘if S?J. @ 2

- o @ o2 (8) @ellay
] ‘.'
© G,O‘ll? \‘(. Lm 5i8
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77, 4Y5d Angaigy i
R et oy gy, HRett azcla yyu BlgL &l 7
(A) Uy Huizog

78, el us@yg 4 ; O o
B8 58 a1y 0&:11; :ﬁl;uﬂq‘“ﬂ Qetet 135 wll coreal Aol A0l_28 & &

- fla U
ANVt Wrig 530 U atefl B 3 wiall aoroll B Auiell A1elDS <X
detasl deef - I e 53l ot will aotell () D all

@) Qeraced Wl
(D) Aell Arto2

2

A) 1
| (B) 0.9
€ 01
79. INDIA e
: :LQGLD = g :
" q %I;LéTAhé
P (W) LoGie [Erxwdg)
| (B) EFXwWDQ
2 (S EKxwDQ
; ol aﬂ (D) ExwbQL
80. ollQo : |
, 3 ‘Lll 5 AoE gg UM ole] 7
Y ) skwd
(B)  ARAERA

(€ Qo
81. RdidR woeall ¥@ Ry 9 a2
M) Al +augR

(€ Rt + 22

P s

(B) ®dl + q?

(D) Ad + wud?

82, YSUR UKARRL U WA D ?

@ uiotyt | (8) _qc—tﬁs
(0 yelole (D) LR
83. Yo dges Aol WA ASAcl scll ? |
) wdam ' (8) A& WA
© Q@suet o - (D) ¥Wlld

84, "AojAR"oll AUl 2oE A B ?

4 Ads (8) Raur
© was . (D) AR
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85. Wy mcu‘ e Aoll prctoll Guzoll wzaa] o9 A &, 5 cd ugdl [ettoll Gue yaoll
cizoll Guedll 3 o0l 5al dl [euofl picioll Gue o) v 7

?/(A) 160 (B) 40
(€) 50 (D) 10
86. oflAotinioll 52l [@scul yaioiet ol 7
(A) Gese (B) Yol

M’Kﬁ& (D) dlg

87. ollotniall 520l weisiz wulcise ol ?

(A) 3us (B) GUML :
|G (21 A

(€) Gejeut % alleyy
88. Which of the following is incorrect ?

(A) He was with me (B) till now
g/(C) don't (D) punish him for the delay

s0 don
89, deios Al 52l AAHI ool nadl edl ?
() @Rw®

() dduadl
() Alsziolld

2z Alsolld
go. lell ay Hleete] GeulEat 52 el A B ?
(A) Mt yte M s
(D) 2A%UL

() ity

o1, yud uyte usoiell 50 gl Al & ?

(A) otcll (bl (B) wl2oUGIE

) [@5E2L (D) ULURH
02, STD ACIV GURAML 52 23 gocl i 2ac &l ?
(A) 1960 (B) 1974
'((J (C) 1958 (D) 1972
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r ;

g3 dlastet [Qenllsoll 2euuett say e sz el adl 2

A 180 _ (8) 1932

(C) 1921 (D) 1931

: 2 D, %l
ga. B8 [Qenelel wRs vl Wefl el 251 il Auiell atiel auel A >
A2 MR 1000 3. vl Wl A wact Ax A, wls wl dedl ? wooo

| /4\) 400 (B) 600 . oY ‘ ;‘LO
K (0 620 (D) 420 \ooo
% g5. ol Aettiell 53 QAN udefls QAN B ?
| PR ® 2
(€ A (D) «g

. 9. ol Asttmiell 53] Yol o2l 2

(A) As gl e B %}q |
(€ Mg wHg (oY B adl %l
g7. cisetul Az AuaAdlo vt 53 s adl 2
X ellvusy g%m SLHL _ (B) Malc aUtl
(g UMY gLl (o) Adlaet 33 | |
os. 'euel uRel 360 MR s A2s ALIBE Uzl o At s 2l A3 AL
adl 2 |
(A) UAH (8) Grlr Yt
(C) M yka (p) @&R

99.. QA2BH (Rc;tterdam) ge 212G B ?

ﬁ(/ el (8) doMl5
L S
™ (o) %Mell

2l B b &l 8- atseisll Y52 Q.

. : u
100, il wedl 881 e
. Ysel
2
) et * (D) BEIUR AUS
(c) E
JR VA
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